IR "7 01N R, A 702

It may cause a confusion - RRHYT NNLR 21902 DYPIIRY NN
regarding the authentication of documents in general.

OVERVIEW

According to X210, the reason that the m%w says 2n21 °192 is only to
differentiate it from mnvw arp.' There is (seemingly) no significance or
purpose in this testimony itself. Our Md0IN explains when 2031 °192 will
prevent the >R, nX.

nooIN asks:
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And if you will say; since it is not really necessary for the m>v to say %193

an>1; it is said only because we should not confuse mavw ovp with van orp.
According to X271 we are not concerned about ;72w%. Our concern is only to ascertain that
the husband actually sent the v3. To verify this, all that is required is that we know that
we have proper witnesses. This is accomplished by the m°%w saying anmi °102. The
question is —
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Why does the X713 in the beginning of the second P99 interpret the mawn
which states that if the 5w said 1°¥17 2021 °192 it is 195, that the mawn is (only)
referring to the case where the 5w said —
- 211WN‘1 PNNN 29V PINN XN 2NI) 292
The last half of the vx was written in my presence; only then is the v3
7100. The question is: why is the 2109 v3 in this case more than if he said the

first half of the v only, was written in my presence; in which case the v would be
Tw>.? If we were to assume (like 727) that 2an21 *192 is said for the purpose of verifying
that the v) was written WY, it is understood that if the first half was written 72w% then
there is no problem with the v, as opposed to if only the second half was written nnw>.
According to X217, however, we are not concerned whether the v was written 7nw>. The
only purpose of saying and1 °191 is to differentiate vi7 21p from mvw orp. What
difference should there be if he said WX X7 1"92 or NINX 1Y 1"92; in either case
seemingly it will be differentiated from m1vw a1°p, where no 2n21°192 is said at all.

! One should not make the mistake that since anmi %92 is valid even with only one 7y, therefore all aorp
MNvR can also be accomplished with even only one 7v.

? See “Thinking it over’ # 1.

? The x»3 there quotes X" who says "% 1R 2w 7AW DAX AYW X9K 12 202 &2 199X, This is interpreted
(by ""wn [and here in N0I1N]) to mean the first line of the vx where the names of the man and the woman
are written.
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Mo0IN answers:
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And one can say; that in the first half of the v) there is therein the names
of the husband and the wife, and the date of the divorce which is the

essence of the ¥x. When the m>w testifies that these were written in his presence, since

they are an essential part of the v3, therefore —
DMTNINT NN NI NNDIN 4291

It is apparent that a pertinent testimony” is being presented before the 7"*2

and therefore the w7 01 will not be confused with mmuw arp. Everyone notices
that this is not a regular 21°p, for additional testimony is being offered here, which is not
offered by mvw ovp. If, however, the mYw says 11IMXR 1°¥1 2021 °192, since that part of the
v is merely a standard form;’ nothing of substance is written there that will distinguish it
from other Pv23, therefore no one will take this statement of 111X X1 2N31 °191 as being
serious testimony. People will assume that the 15w is just relating what happened, but
there is no real testimony in this statement. The only testimony that will be considered
relevant is the onm1 °192. Thus it will appear as a regular m7vw avp. Therefore we are
concerned that X29¥7 N1vw arpa *omRY "Nk and the v3 is 7100.

SUMMARY

Saying 2021 °192 on the (first) part of the v which contains pertinent
information will be taken as a relevant testimony. This will prevent the >nX
"M171°KY. Saying 2031 °193, only on the remainder of the v, will not be viewed
as relevant testimony. It will not therefore prevent the *9171°X% *nX.

THINKING IT OVER

1. Why could not m»oin ask his question on the 71wn directly; why is °192
509 1¥r 2n21? Why did moon find it necessary to quote the °xma that
differentiates between WX 1°¥17 192 and PNINX 1°X7 1927

2. Explain the difference of our understanding how 2n21 °192 will prevent the
DR °NR, according to the X°Wp, as opposed to the Y170, of Mmoo,

* See w"x"71 '010 who states: "33 Y MV P Y.
> In fact it may be written by the 72w% X2w 1910, without the instruction of the %ya.
® See footnote # 2.
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